
PART-III 

�rr6lJ.IJ"EilShu6'J / BOT ANY 
( � u51 � LD d) .Q)I LO �ffilffil GD (@J � / Tamil & Engli$h Versions) 

cgJB IJLD : 3 LD� ] [ Qwrr�� LD�uQu�a;ro : 150 [Maximum Marks : 150 Time Allowed : 3 Hours ] 
� !!516tf m IT : (1) � Gm 601 � � @SJ 601 rr a; ffi (_§ LD a= rfl llJ rr ffi u � (@J rr £1 2-GTHiTT � rr Gr 6nT u � Gm 601a= rfl u rr IT�� a; Q ffi rr m GIT Gt.I LO . � 8=8r u u � @SJ ru (§ Gm !D � ® u t.Sl 6nl � Gm !D a;ffi� ffi rr� u u rrGITrfl LLD 2-L601Lq-llJ rr ffi� Q � rfl@Sl a;a;6LJ LD.

(2) JB<oDLD �6\)Q)� ffi@l.JLI GmLDu51Gm601 LDL...@(gLD Gf@�GLl�!!J(§U LJllJ6nlLJ@��cg(@J �@LO. LJ LffiJ 8j6Tf GLI Go) IJGLI � !D (§ Q LJ 6nT .i16\) LJ llJ 6nlLJ@ ��Gt.I LO.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness, inform the Hall Supervisor,imm.ediately. 

(2) Use Blac_k or Blue ink to write and pencil to draw diagrams.
LI®� - �- / SECTION - A 

®�LILI : (i) � 6lS)6m �� @S) 601rT $8; �$(§ LO @S) Go) LllJ GTll 8'8JGLj LO. 
Note: 

(ii) · e:rrlUJrr6m @S!GmLGmUJ� cg�ITJtG�®�� Gf@�ffi.
(i) Answer all the questions.(ii) Choose and write the correct answer.

30x1=30 

1. <or�� rr ru 1J LD <oD_ rfl 6nT (§ ti) Gm u a; ffi rr LD·q �,8' (§ � � 8r(@J rr ffi LD rr p51 ru GIT IT 8=.i1 llJ Gm L Jt �ffi@Gt.J dJ !D (§!D Go) u 6l5) llJ LD �� dJ ®ITT Q a:w �� £J !D� ?
( � ) � oo £1(g601rru5166T1 � oo t.Sl IJrT ( �) £1 Gm GIT L cg L rrrfl, llJ rr Q LITcg_601� llJ rr
In which plant the stipe of the ovary becomes meristematic and grows down into the soil? (a) Aeschynomene asp era( c) Arachis hypogea (b) Clitoria ternatea( d) Crotalaria verrucosa
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2. 

2

� Gl.l 6oHJ � � ff G)J I)" GG)J 1116m" @ �60bl"LJ ��� ffi @a=Q 56D8.i 6TTff 6D �6ITT �. 
( �) urri;r6m"�8.it.Drr ( �) oo$lGTTli;r6m"�ffiLDrr 
(@) Ga;rrG06m"�8.iLDrr ( r-r:) 6Jlf6ITT�ffiLDrr 
Conjunctive tissue of bean root is made up of : 
(a) Parenchyma (b) Sclerenchyma
(c) Collenchyma (d) Aerenchyma

3. �ua�rr - Le..56D GU!I)UU{b)LD �ffG)Jl)"I.D :
( �) §3LGi;rrr/ourr @)ITffirroo ( �) 0°0L516DGOrrJb�oo �LDrri;roo 

I (@) rf1c¥16ITTOO 8.iLD�8lllOO ( r-r:) �J/oGurrrnShurr u6DG5117 l.Dff 
Biodiesel is obtained from: 
( a) J a tropha cure as 
( c) Ricinus communis

4. @JB�lllrr@S16D ffiffLJ�rf1�LD$ 8.iffGOLD :
( �) 10 �00@8.iro

I (@) 17 �oo(1)<£ru

. Duration of patent in India is
(a) 10 years
(c) 17 years

5. LDIJ� G)J�l)"UL��6m" �GO@) :
( � ) Q 56m"li}- L.D LLIT
(@) G156m"li}- LDfflT$6m"
Unit of genetic map is
(a) Centimeter
( c) Centimorgan

(b) Phyllanthus amarus
(d) Euphorbia pulcherrima

( �) 5 �00{1)8.iffi 
( r-r:) 20 �oo{b)ffim 

(b) 5 years
(d) 20 years

( �) ffilGGOrr Guoo 
(r-r:) GLDffirr Guoo 

(b) Kilobase
(d) Megabase

6. QP�ITJB� 56DGO�La; ®�rru5l6D @� a;rr@f"LJLJL61S1GU�GO.
( �) ��@I" G15GU8.iro ( �) 561)6\)�L� �L@8.im 
(@) GffiGGOrr<om (r-r:) Jfi1LYa;$lGTTllL!oo 
------ is absent in matured sieve tube. 
I , (a) 
tc)

companion cells (b) sieve plate
callose ( d) nucleus
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(�) �a;rr6151urr @oo-Lt)-a;rr 

(@) §1s=oo (§@J rrLIJrrr&J(§Q)rrrfloo 
Binomial of vilvam is 
(a) Acalypha indica
( c) Cissus quadrangularis

8. 6r.Ga;rrGo>Q)u51GD DNA @IJLLt)-uurr�iD
Q UIDJ£1p)�.

(�) 25 (qb) 35 

3 

( qb ) GJ a;) iD LD rr IT u51 GI) rr oo 

( r-r-) Go>LDGLDrrs=rr [Jlt)-a;rr 

(b) Aegle marmelos
(d) Mimosa pudica

(@) 40 (r-r-) 45 
The replication of DNA in E-coli is completed in ____ minutes. 

(d) 45(a) 25 (b) 35 (c) 40

9. ru rr 00@5 GI) rr IT Ga; LD tS1 lLl ru Go> ro lLl � :$16m Q s= iD a; GiT Q ru 6111 u LJ !D LD rr a; G� rr !D w GlS1 a;® LD
Qs=ioa;m ---- q6$ Gruwurr(S\ <:§tGo>L£16mp)6ITT.

( <:§t) (Y)�Q)JB1Go)Q) Go)cfG\)l.!) ( qb) (Y)�Q)JB1Go)G\) o0oLjGGTT fflLJL.D

The cells cut off from the vascular cambial ring towards outside get differentiated into 
(a) primary xylem (b) primary phloem
(c) secondary xylem (d) secondary phloem

10. Gru1T@GlS1a;m ____ 6151@Jt� G�rr6ITTIDJ£16ITTJD6m-.

( <:§t) Lt)-Go>IJa;Ga;rrLS1rorrooL(S\a;m ( qb) <:§ta;�G�rriD 

(@) Go)�L.JGurrG1L1Tu5100 (r-r-) QurflGo>s=a;ffilm 
Root hairs originate from : 
(a) Trichoblasts
(c) Hypodermis

(b) Endo dermis
(d) Pericycle

11. . @� Gru1Ta;61116m GJDIT Lj61S1 JfirfLL�Go>�� @�®£1!D�-

( <:§t) qbfficF16m" ( qb) Go>s=LGLrrGo>a;�6m 

(@ ) W u IJ iD 61516m ( r-r-) <:§t u §1 §1 a; <:§t u51 GI) LD 
Hormone that stimulates positive geotropism in roots: 
(a) Auxin (b) Cytokinin
(c) Gibberellins (d) Abscisic acid
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4
12. Q cFQ) a; (_§a; @5 6'6) QJ IJ oo a; 6'6) m G"r �fr�� J£1 !D @5 ill � !D 6'6) 6m" �L@ ill Q u rr ® GTT.

( �) @6b7-Lfr661�a;ffil6br ( qi,) @6bTLrTo0oGui:rrr6br
(@ ) @6br Sr6'Sl 6bT ( r-r-) Q 1J 6"6Tl 6m � © u u rr 6bT a; ro
The substance that helps the cells resist viruses 
(a) Interleukin (b) Interferon 
(c) Insulin (d) Renin inhibitor

13. s;Wa;�L G"rpj� 2-�rf16ITT��Q) RNA a;rr�uu(BQJ�6D6'6)6D ?
( �) TMV ( qi,) urra;�rfhurr

( r-r-) DNA 6'6)QJIJ008:iGTT
RNA is universally present in all organisms except in:
(a) TMV (b) Bacteria 
(c) Algae (d) DNA viruses

14. 0°0Gurr6"6Tla;oo �a;a;rr6l51oo �rrrui:r��ro (§Q) �L®@6'6)!D :
( �) �<9=Sr (§Q) �L® (Y)6'6)!D ( �) SrQJrr (§6D �L® (Y)6'6)!D
(@) �Ltr-B= ®Q) �L@ (Y)6'6)!D ( r-r-) 6L11GTT1ill� (§6D �L® (Y)6'6)!D
In Phoenix acaulis the placentation is :
(a) axile (b) parietal 
(c) basal (d) marginal

15. LD6ITT1�6ITTlfQ) QP�6ITT (!:P�6DITB:i l2._(!9QJfT8;8:iLJUL.L �rr6"6TlLLJill :
( � ) .ii Ga;Q) (qi,) Ltr-ifl L Ltr-a; ill
(@) Ltr-ifl Ll.cr-Ga;Q) ( r-r-) QcrrrGDrr6ITTill

1 The first man made cereal is : 
\ (a) secale 
\ ( c) triticale 

(b) 
(d)

triticum 
solanum

16. \,i.51Grrrra; 6'6)J!)L ��L.' @��rTQJIJ��6lTT QJ�a;u QuLLJIJ"rT@)ill.
I<�) Gilf lTQ) IT6ID"L0 GID)!il£r,rl0 (qi,) �8,IT.ul LI IT .@�1.Cf-8,IT
\(@) 6'6)LDGLDrra=rr �l.cr-a;rr · ( r-r-) GJ$)6D LDrrrru516DrrciD
[Black night shade' is the trade name of this plant: 
1

(a) Solanum nigrum · (b) Acalypha indica
(c) Mimosa pudica (d) Aegle marmelos
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17. LSI 6m (@J ® LO Gr Jis � u rr ffi L� _ _rf1 LU LO � LOG LD rr � LU rr Go) (@J Go) J:5 LGo) 1J LLrr c9J �ffi� � GGITTti) JD LO
Qe=LLI£lJD� ? .
( �) Go)J:5L1JGe=rrGLDrrGITTrroo 
(@ ) £l GIT rr eiD t.q-rf1 t.q-LU LO 

( �) Quffi£lLUGLrr(@Jrr
(r-r-) Gr.Gc9JrrGo)Q)

The bacterium that oxidizes ammonia to nitrate

(a) Nitrosomonas
( c) Clostridium

(b) Beggiatoa
( d) E-coli

18. �8=��00-WJLO �ff(@_]IJ��d)@5 Gr(1\��ffiffirrL(1\ :
( �) LIJGTDIJrr ( �) @SlooffiLD 
(@) LDrrGGITTrrLGo-rrurr (r-r-) (@JffOO-Lrr 
An example for insectivorous plant is 
(a) Drosera (b) 
(c) Monotropa (d) 

Viscum 
Vanda 

19. �ruQ(@Jrr ® G1 o-ooLrf1ffi�6m G1 J:5 rr��LO DNA (Y)Q:>85ffi..Go) JD @ps� _@L��GU
�OO-Lq-ffi$1JD�

20. 

( � ) � @IT 8JGTT16irr @ Go)6ITT 8JGTT161)
( �) LE�Go)�L61GU U@5�L61GU
(@ ) [51 � ffi£l GTT1 G LU rr Go) L ® (@J rf1 Go) a=L61 GU
( r-r-) DNA -@Sl6irr Go)LDLU��GU 
Each restriction enzyme cleaves a molecule only at: 

(a) the ends of genes

(b) methyl groups

( c) nucleotide sequence

( d) the time of DNA replication

(@JGo)c9Jl.JUffLlq-@rr �Lq-L.JLJGo)L �Q)@j 
(�) �d)pS)GITTLO ( �) (@J rf)Go)e= 
The basic unit of classification is : 

(a) Species (b) Series

(@) Gu rf16n1 LO 

(c) Genus

21. �GUGD1 Gurr6irr!I) �GUGD1L6l�W ffirr�uu(1\LD �rr(@JIJLD.

( r-r-) �Go)jD 

(d) Order

(�) @ffiGoorro-rr (�) u51�oorroo-Lrr (@) c9;rrrrt.q-�LUrr . (r-r-) Gc9JGD1LULD 
Petaloid sepal is present in : 
(a) Ixora (b) Mussaenda (c) Gardenia (d) Galium
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22. @5JJ))LDLJcnQ) f15ff@JO"��£D® 6r(6\��a;cnrrL@ ·:

( �) Gcnrr�6o>LD ( �) LJ6o>cnu516o>Q)� f15ff@JO"LD 

(@) ®rfhucnrrJisj (r-r-) LD8Jcnrr5GtrrrGTTt.b 

An example for short day plant·: 

(a) wheat

( c) sunflower

(b) tobacco

(d) maize

23. �a;®� �8r@Jff6or@ �6o>Q)�f15� jar@Jrrcn LDff!I)DJLD �6o>L@J� :

24. 

(�) GGUJJ))UffL6o>Lf15Q) (�) LDg)JGQJ.Q)IUfTL6o)Lf15GD 

(@) �m15Ga:rrc£6o)c9; ( r-r-) GtrQ) u®ULJ 
The change from meristematic to permanent tissue is called: 

(a) Differentiation (b) Redifferentiation

(c) Photosynthesis (d) Cell division

�GiuL.Gry-� @)@LDU��6m c9;6nfl 

( �) Qry-c9;1.Drr (qh) Gurrrfl (@) � u Q trQ) Q) rr 

Fruit of Asteraceae is 

(a) Regma (b) Berry (c) Cypsela

25. '6f6m-6o)trl.D' 6f6mDJ GltrfrQ)@\)Q) (Y)f156m (Y)f156'51Q) UllJ6mU(b\��UJQJIT :

( �) @)6ITT" 
( �) /ot.S)��IT 

(@) LJ56orrr (r-r-) Gcnrr�Q)rr�L 

The term enzyme was coined by 

(a) Kuhne

(c) Buchner

(b) Fischer

(d) Koshland

26. t.S16m- ru @ru 6orru !DID! ro- <or� � 6o)6lm"f � DJ uS1 UJ Q)Q) ?

(�) �uffiGffirrt.S16'516m (�) Ua:6o>trUJLD 

(@) ffiCry-rrLtq-6orrrw@ ( r-r-) trrrJisGf15rro0ot.S1Q) 
Which of the following is not an accessory pigment ? 

(a) Phycobilins (b) Chlorophyll

(c) Carotenoids (d) Xanthophylls

( r-r-) QQ)ffi�l.D 

(d) Legume
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27. @a;®@LDu �rrGl.Jl)"ffiJffiGT11GITT @roLD �IDJULJffiGT11GITT LB.� J:BLB=��IJ" Gl.Jlq-Gl.J GirrrLD Gl.Jro11ia;Gir
a;rrGnoru u (bl LD.

(r-r-) LDrrGUGGl.JcFI
Plants belonging to this family have stellate hairs on their younger parts
(a) Arecaceae (b) Fabaceae (c) Rubiaceae (d) Malvaceae

28. �a=cF)a;�ma; Qa;rrGU@IJLD JDB=cn��GITT�LD��LLLI GLGULrr GT6ibTGLrrLrr83cFIGITT
LJIJ"����GITT �d)u�� Ga=wGl.J�
( �) GT<oruGoorA� lLI rr Ga;rr�6D 
(@ ) Gu cFI GU Q) (on) � rA (§cFI lLI 6ITT cFI (on) 

( �) ooGLl)"LJGLrr�LDcFIOO $1n1cF1lLIOO
( r-r-) GucFIGU6D<oru 6Drra;i.q_

A toxic protein called delta endotoxin is insecticidal and it is produced by:
(a) Escherichia coli
( c) Bacillus thurungiensis

29. ®(§a;Ga;rr<on516m" cnGl.Jrra= r-r-� :
(�) cnw1
(@) �6m".Q)Jffi@5 GLDGU
Respiratory quotient of glucose is
(a) zero

( c) more than one

(b) Streptomyces griseus
( d) Bacillus lacti

( �) �6m".Q)J
(r-r-) �6m"IDJ83® @)�p)�

(b) one
(d) less than one

30. GT6D83LIJ"ff6m" a;L�� a=rFiJffi160lu51GU ATP �6ibTLrrGl.J� ____ GT6m'UU(@LD.
( �) urrooGuL JB83ffiLD
( �) �GTf1 urroou ira;IJ"GnoTLD
(@ ) �a;cF) � GGITT d) p) u rr oo u ira; IJ" GnoTLD
( r-r-) �rou Qurr@m urrooulTffilJ"GnoTLD
Formation of ATP during electron transport chain is known as:
(a) dephosphorylation
(b) photophosphorylation
(c) oxidative phosphorylation
( d) Substrate level phosphorylation

5643 
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LI@)� - � / SECTION - B 

Note: Answer any fifteen questions. 

31. \ '@® Q B=rqb Q u UJ rf1 (B LD @ 6'6) !D ' GT 6ITT"!I) rr 6i) GT 6ITT" 6m? GT (B �@ a;cE rrL(b\ �®cE.
\ What is Binomial nomenclature ? Give example. 
I 
I 

32. i LD rr 6i) G 6U M u516ITT" ps rr rr � ® LD � rr 6l.l lJT6J cE GiT (:Y) 6ITT" !)516ITT" Q u UJ rf1 {io) 6m 6r@ §J cE .
\ Name any three fibre plants of Malvaceae. 

I 

15x3=45 

33. \ GcE rr cE rr oo j5l �Ma°o Q u 1J rr @516ITT" qj;, 6iol- LD ft> ID! Lb Q u 6iol- LD ro rr cE 6TTl 6m" 6l.l rr UJ LI u rr (B cE {io) ro
I GT@�.$.

34 .. 

\Write the floral formula of male and female flower of cocos nucifera. 
I 
I 
I 

I u rrnSl �a; LD .it:> '"al!!) rr Q) '"al ®T? '"0 ii,� .i;a; rrL...(b) /l)@Bi.
I 

\What is Polygamous ? Give an example. 
i 

3 5. .6JIJ6m" {;o)cE LD rr GT 6ITT"!I) rr Q) GT 6m" 6m? c9-1 � 6ITT" u 6lmll 6o) UJ ® !)51 LI� (1'\$.

36. 

37. 

I 

What is aerenchyma? State its function. 

p - @)GIJrrGLDrrB=rrL.OcEGTT lUrf{io)6l.J ?
I 

f'7hat are B - chromosomes? 

! 

�u51 IT �ru ifil ifil r.e.lT LD rr!iJ fl) LO '"al!!) rr Q) '"al ®T? "1" (b) )'i;� .iia;rrL...(b) /l,@Bi.
What is Biochemical mutation ? Give an example. 

1 

3 8. � � ffi@ffi.$ B= ffi@ GIT GT 6m"!!)rr 6i) GT 6m 6m? <::9-1� GTG)J 6l.l rrw � rorr �� LI u (B $) O)@ ?
I 

�at is positive super coil ? How is it released ?

�I 
! 
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39. �a=S:irrUJ u k±,ii=� - �IDJ@S.ro1 u LJ Gl.J6o)IJ 8.i. 

Write short notes on "Super bug". 

9 

40. �a;G1;rru rra;LeJflUJ LO @u51Gu� UJ6ITTc!f16ITT @a;ctlUJ��GlJ LO UJ rr� ?

What is the importance of Agrobacterium tumefaciens?

41. 6o) !filID LG 1J rrG Q) oog m <or 6ITTrIJ rr 6\) <or 6ITT 6ITT? <or®�� a;g rrL@ �® 8.i.

What are hydrolases ? Give an example.

4 2. G6Ll � Ga= fr a;6o) 8.i <or 6ITTrIJ rr 6\) <or 6ITT 6ITT ? 

Define chemosynthesis. 

4 3. rf1 a= LD rr � L 6D rr ffi.l 61S16o)ffi � <or 6ITTrJ) rrQ) <or 6ITT 6ITT ? 

What is Richmond Lang effect ? 

44. Q J5 rr � �� 6l) <or 6ITTrJ) rr 6l) <or 6ITT 6ITT ?

What is fermentation ?

45. �6ft1a;grrQ)��GlJ�6o)� Gl.l6o)IJUJ6o)rJ) Ga=LLJffi.

Define photoperiodism.

4 6. @®Gl.l l!j-Gl.l u ar ffi.l 8.i� 8.i ffi.18.iffi 6r 6ITTrJ)ff 6l) <or 6ITT6ITT ? 

What are dimorphic chloroplasts ? 

47. ct1Q1;uoo arwd)c!flu5l6\) �GS:irr�GLOO GJ5rr�u5l6ITT Uffi.l@S UJrr� ?

What is the role of .11 aconitase" in Krebs cycle?

5643 
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48. I C2 ffi�JD��LU (o)J�IJLLIWJ.
[ Define C

2 
cycle. 

I 

4 9. 12-1!51 ifl !,d, lflfl Ii; Q ,9, rr Ql .iSl - ru � v-w !))I. 
1What are Biopesticides ? 
i 

10 

50. lg)__uS)rr)u Qurr®ffi Q5.,rrffi�GTT Gr6m".[I)ITQ) Gr6m"6ITT ?
\What is Biopiracy?

I 
I 
i 

LI@)j - � / SECTION - C 

,.,(l .1 (1') ®!,!J•YY : 6T6lf>6lJ �UJ WILD 6J@ @S16ITTrr a;5., �8'@5 @S1 � L �(!95.i. � G)J JD WI m @S16"6Trr GrGm" 

(ii) G��G)JUJIT6"6T @Lffil5.iGTTl6b ULLO 6)J�IJ"5.i.

7x5=35 

Note (i) Answer any seven questions including Question No. 55 which is
compulsory.

i 
, I 

-(ii) Draw diagrams wherever necessary.

51. �£lru g)__Q)5., �IT6)JIJ"�UJQ) QuUJrr @;L(b\8= 8=LL��6TI (Y)8'£lUJ �LD8=ffiJ5.i�GTT$
@)p)I u l51 {1)5.i.
I 

l;3ring out the salient features of ICBN. 
!
I 

52. �8=rrrorr G6"6T� @5(b\L.Du��6TI Qurr@GTTrr�rrlJ" (Y)8'£lUJ��ruLD ®n51�� Gr@�5.i.
cpive the economic importance of Solanaceae.

I 
53. �.[D�G�rrro �ffi� Q�rr®ul51m LJ�5.i�GTT Gf@�5.i.

'\fvhat are the functions of epidermal tissue system? 
I 

I
I 

54. � oo@ ru � GTTUJ ffiJ 5., m u JD !J5l ® pSl u � Gr@§! 5.,.
"irrite short notes on annual rings. -

I 
I 

I 
I 

55. c@®GlS1�fEl�ro� �fTG)JIJ Grurrlm ®ID!a;® GruL{b) G�rr!bJD��� LJLLD ru�i;rJn�
� IT 5.i ffiJ 5.i � GIT a; @) !}5l .

- .. 

D)raw the transverse section of dicot root and label the parts.
i 

�I 
I 
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56. ®wa;Gs;!b�LD GT6b"r�rr6D GT6b"r6llr? ��6b"r QP8$tUJ��Gl.Jrfi.JS:iGo)GIT ®p51ul51(5ls;.
What is crossing over ? Give its significance.

5 7. � 6b"r� LS) GITITll.l lrt- GT 6b"r £!) IT 6D <or 6b"r 6llT? � �6b"r GlJ Go)S:iS:i Go) GIT 6EJ GlJ rf1 . 
What is aneuploidy ? Explain its types. 

5 8. q±,8cf1 ®J Go) LUJ GlJ rrw 6EJ UJ 6D @S1 Go)GIT<oLj S:iGo)GIT GT@�. 
Write the physiological effects of auxins. 

59. C3 LD!I)IDJLD C4 Gl.J���Lr5.15:i(§8$1Go)LGUJ �GTTGIT GGl.JID]UIT(blS:iGTT UJITGQ)Gl.J ?
What are the differences between C

3
' and C

4 
pathway ?

6 0. Q JD GD 6Dl 6b"r Q u rr ® GITJr � ITIJ u w 6b"r s; Go) GIT a; ® D51 u L51 ® s;. 
Write about the economic importance of rice. 

61. Gpjrr�s;Gir (Y)Go)� �GIJrrLGLrrL51GITrrB= �6l5T)�Q�(bi��Go)Gl) 61S1Gl.Jrfl.
Explain the enzymatic method of isolation of protoplast.

6 2. � w GD � Go) 6bT u Q u !D !D � rr GlJ IJ rfi.l s; GITl 6b"r s; Go) GIT a; Q s; rr ru 6Dl <or� fr u � � � !D 6b"r u !D p5) 
8r(§85:ilDITS:i GT@�S:i. 
Give a brief account of herbicide resistance in transgenic plants. 

LI®� _ - r:r- / SECTION - D 

5643 

®951 LI 4 : ( i) 6T 6l5) 6)J �UJ WJ LI) !!> JT6lST ® @S16lj"f £f a;s; {_§8l@5 @S1 Go) L � (!95:i. 4x10=40 

Note: 

( ii) G� Go) GlJ UJ rr 6llT @ L ffiJ s;GTTl ru u LLD GlJ Go) 1J s;.
(i) Answer any four questions.
(ii) Draw diagrams wherever necessary.

63. Q u Jt� w LD !D w LO �-oa;s;rr GlJ Go)S:i l.J u rrL.trt-6bT � L..Lru Go)61rn"f � w 6lS1 GlJ rf1. ( � LLGl.J Go)61rn"f
�GDQ)� @S1GITa;s;LD)
Discuss the outline of Bentham and Hooker's system of Classification of plants. ( outline
flow chart or explanation)

64. $) Go)GITL G urrf1 UJ rr Q urG 6llT� w rr Go) GlJ s; Go) 61) a= Q B=rr !I) S:iGITrr GD @S1 GlJ rf1 .
Describe Clitoria ternatea in botanical. terms.

[ �®LJ �s; / Turn over 
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I -" . ,f1 • • • • • ,fl . -" rA 65:. , �@j <oJJl��16ID60� �rTQJI)"� �6lITTlq-6ITT (Y)�Q) µ.,,6IDQ) �6IDLDU6IDU <olJIQJ . 

I Describe the primary struchrre of a monocot stem. 

661 �rTQJI)"� �8r QJrorrui.51� �t.q..LJLJ6IDL Ga=lUru IDJLUffi.la;6IDro @SlmcE@)a;. (uLffi.la;GTT 
I G�6IDQJuS1ru6IDQ)) 

Explain the basic techniques of plant tissue culture (Diagrams not needed). 

67. DNA-uS16nl �6IDLDL.16IDU @S)QJ•rA.

Write an account on the structure of DNA.

68.
1 

C4 G)J���L��6nl GlS16ID6ITTa;6IDro @S)G)Jrfl. ( G)J6IDl)"ULLD �ruro� @Slros.;a;LD ).

\ Describe the sequences of reactions of C4 pathway (Flow chart or description).
I 
I 

69.1 qb(§�GlLirr<oruGurr1.Da;Glf16nl uruGG)Jw �LL (Y)6ID!I)$6IDffi Gl51ros.i@5$. 

Describe different modes of nutrition in angiosperms. 

7 0. I
�ugj rf1 �IJ"LD Gr 6nT !D rr ru Gr 6nT 61rr? � u51 rfl �IJ"ffi.l a;Glf) 6nT JD 6nT 6ID LDffi6ID m @S) m <E@5ffi. 

What are biofertilizers? Give an account of their benefits. 

- 0 0 o-
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